CONTRACT NAME: AGREEMENT BETWEEN EL CORTEZ HOTEL AND CASINO AND DAVIS JOINT UNIFIED SCHOOL DISTRICT

BRIEF DESCRIPTION OF CONTRACT: El Cortez Hotel and Casino will provide accommodations for the Davis Senior High School robotics team while traveling to the Citrus Circuit event in Las Vegas from April 5, 2017 through April 9, 2017.

The cost of the accommodations is approximately \$4,459 and is being paid by donations. No student was excluded due to inability to pay.



GROUP BOOKING CONTRACT

Steve Harvey

Davis Senior High School

315 W 14th St Davis, CA 95616

TELEPHONE: 530-757-5300 ext 122

DATE: March 27, 2017

ARRIVAL: Thursday April 5, 2017 **DEPARTURE:** Sunday April 9, 2017

ROOM BLOCK: 20 Rooms - Peak is Thursday and Friday

EMAIL ADDRESS: jhart@jsud.net

GROUP NAME: Citrus Circuit 1678

GROUP RATE/PACKAGE:

DOES NOT INCLUDE 13% CLARK COUNTY ROOM TAX, FOR See below

SINGLE OR DOUBLE OCCUPANCY. ADD \$11.30 per night FOR EACH ADDITIONAL PERSON SHARING A DOUBLE OCCUPANCY ROOM. THIS RATE INCLUDES: One complimentary funbook per person over 21 years of age. A valid credit is

Required upon check-in. Comp 1 per 20 rooms occupied per day.

BAGGAGE HANDLING:

NOT INCLUDED

DEPOSIT:

A MINIMUM DEPOSIT OF MARCH 10, 2017

WILL BE DUE NO LATER THAN \$2,229.48*

TO GUARANTEE BOOKING. GROUP BLOCK IS SUBJECT TO CANCELLATION IF DEPOSIT IS NOT RECEIVED BY DUE DATE.

CREDIT CARD ACCEPTED IN LIEU OF DEPOSIT. Initial deposit was received on

March 13, 2017.

CANCELLATIONS:

DEPOSIT IS FULLY REFUNDABLE IF IS CANCELLED AT LEAST 96 HOURS PRIOR TO ARRIVAL. A ONE NIGHT'S ROOM AND TAX CHARGE WILL BE

CHARGED FOR LATE CANCEL OR NO-SHOW.

FINAL PAYMENT:

THE FINAL PAYMENT OF

\$2,229.48*

DUE MARCH 31, 2017.

CONFIRMATION:

HOTEL FAX NUMBER 702-474-3626. TOLL FREE NUMBER 800-634-6703 FAX CONTRACT BACK TO 702-474-3626 or email jdorweiler@elcortez.net

ROOMING LIST:

GUESTS WILL BE RESPONSIBLE FOR THEIR OWN INCIDENTALS.

ROOMING LIST NEEDS TO BE PROVIDED AT LEAST 7 DAYS PRIOR TO ARRIVAL.

USE THE GROUP CODE OF CC0417 ON THE ROOMING LIST.

ARRIVAL TIME:

VARIED ARRIVAL TIMES

RATES:

TOWER - \$91.00 PER NIGHT, FRIDAY AND SATURDAY TOWER - \$34.00 PER NIGHT, SUNDAY THRU THURSDAY

*PRICES AND TOTALS SUBJECT TO CHANGE BASED ON ACTUAL ROOM COUNTS AND NUMBER OF DAYS. SEE ATTACHED ESTIMATED ROOM BLOCK AND

CHARGE STRUCTURE.

600 E. Fremont Street - Las Vegas, Nevada 89101 P: 702.385.5200 · TF: 800.634.6703 · F: 702.474.3650 www.elcortezhotelcasino.com



THE TOWER ROOMS HAVE EITHER ONE KING OR TWO QUEEN SIZE BEDS AND ALL ROOMS ARE NONSMOKING. ALL TOWER ROOMS INCLUDE A SMALL REFRIGERATOR, IRON AND IRONING BOARD AND SAFE.

ALL ROOMS NOW FEATURE THE KEURIG COFFEE MAKER. THERE ARE THREE PACKAGES OF K-CUPS IN EACH ROOM. THE PACKAGES EACH INCLUDE TWO K-CUPS AND CONDIMENTS WHICH CONSIST OF COFFEE, DECAF AND TEA. EACH PACKAGE IS \$5.00 IF USED. GUESTS ARE WELCOME TO USE THEIR OWN K-CUPS IN THE KEURIG. THERE ARE TWO BOTTLES OF SMART WATER ALSO WHICH ARE \$5.00 PER BOTTLE.

CREDIT CARD IS REQUIRED AT TIME OF CHECK-IN FOR INCIDENTAL CHARGES. THE INCIDENTAL DEPOSIT IS \$50.00 ON A CREDIT CARD OR \$40.00 PER DAY, MAXIMUM OF THREE (3) DAYS FOR \$120.00 WILL BE CHARGED TO A DEBIT CARD. NO CASH DEPOSITS WILL BE ACCEPTED. DEPOSITS ARE FULLY REFUNDABLE MINUS ANY INCIDENTALS. DEPOSITS GENERALLY TAKE 3 TO 10 BUSINESS DAYS TO BE RETURNED ON THE ACCOUNT DUE TO PROCESSING TIME.

SPECIAL REQUESTS ARE NOT GUARANTEED INCLUDING SMOKING REQUESTS.

EARLY ARRIVALS OR LATE DEPARTURES WILL ALSO RECEIVE THE GROUP DISCOUNTED RATE.

THE EL CORTEZ HAS ESTABLISHED AN AMENITIES FEE OF \$10.95 PLUS TAX AND IS CHARGED ON A DAILY BASIS, ABOVE THE COST FOR ROOM AND TAX. THE AMENITIES FEE INCLUDES – WIFI ACCESS, FITNESS CENTER ACCESS, PARKING IN ATTACHED GARAGE, TWO WATER BOTTLES IN-ROOM DAILY AND UNRESTRICTED LOCAL CALLS.

PLEASE FAX THE SIGNED CONTRACT BACK TO: JOHN DORWEILER AT 702-474-3626 OR EMAIL JDORWEILER@ELCORTEZ.NET

PLEASE SIGN AND RET	URN A COPY OF CONTR	ACT WITHI	n ten days of ri	CEIPT OF CONTRACT.	/ /
THANK YOU.	9:1 3/2	Flin		5/	28/17
APPROVED BY: JOHN D		DATE	ACCEPTED B		DATE
HOTEL MANAGER EL (CORTEZ HOTEL/CASINO)			

El Cortez Hotel Rate Breakdown - Citrus Circuit 1678

		Single or	Single or Double Occupancy	¥					
Date Day	Room Rate	Room Tax	Amen. Fee Am	Amen. Tax	Total	# Rooms	4	Total Cost	
4/5/2017 Wednesday	\$34.00	\$4.42	\$10.95	\$1.42	\$50.79		4	\$203.16	
4/6/2017 Thursday	\$34.00	\$4.42	\$10.95	\$1.42	\$50.79		11	\$558.69	
4/7/2017 Friday	\$91.00	\$11.83	\$10.95	\$1.42	\$115.20		11	\$1,267.20	
4/8/2017 Saturday	\$91.00	\$11.83	\$10.95	\$1.42	\$115.20		G	\$576.00	
4/9/2017 Sunday	\$34.00	\$4.42	\$10.95	\$1.42	\$50.79			\$0.00	
Total								\$2,605.05	
		Quadr	Quadruple Occupancy						
Date Day	Room Rate	Room Tax	Amen. Fee Am	Amen. Tax	Total	# Rooms	-	Total Cost	
4/5/2017 Wednesday	\$54.00	\$4.42	\$10.95	\$1.42	\$70.79			\$0.00	
4/6/2017 Thursday	\$54.00	\$4.42	\$10.95	\$1.42	\$70.79		9	\$637.11	
4/7/2017 Friday	\$111.00	\$11.83	\$10.95	\$1.42	\$135.20		9	\$1,216.80	
4/8/2017 Saturday	\$111.00	\$11.83	\$10.95	\$1.42	\$135.20			\$0.00	
4/9/2017 Sunday	\$54.00	\$4.42	\$10.95	\$1.42	\$70.79			\$0.00	
Total								\$1,853.91	
Grand Total								\$4,458.96	
Deposit of 50%								\$2,229.48	
Remaining Depositof 50%								\$2,229.48	

Prices and Totals subject to change based on actual room counts and number of days.